

**ROUND 1 SUMMARY**  
**2026 Blue Bay LPGA**  
**Jian Lake Blue Bay Golf Course**

Thursday, March 5, 2026

Purse: \$2,600,000.00  
Par: 36 36 - 72 Yardage: 6712

POS	NAME	SCORES	TOTAL	TO PAR
T1	Mary Liu	32-34	66	-6
T1	Weiwei Zhang	32-34	66	-6
T1	Youmin Hwang	33-33	66	-6
T4	Mi Hyang Lee	34-33	67	-5
T4	Zining An	33-34	67	-5
T4	Auston Kim	33-34	67	-5
T7	Aditi Ashok	33-35	68	-4
T7	Esther Henseleit	34-34	68	-4
T7	Yu Liu	36-32	68	-4
T7	Ruoning Yin	33-35	68	-4
T7	Pornanong Phatlum	32-36	68	-4
T7	Emma McMyler	31-37	68	-4
T7	Ayaka Furue	33-35	68	-4
T14	Shiyuan Zhou	35-34	69	-3
T14	Carolina Chacarra	35-34	69	-3
T14	Ying Xu	34-35	69	-3
T14	Leona Maguire	36-33	69	-3
T14	Lindy Duncan	34-35	69	-3
T14	Chanettee Wannasaen	36-33	69	-3
T20	Wei-Ling Hsu	36-34	70	-2
T20	A Lim Kim	35-35	70	-2
T20	Yan Liu	35-35	70	-2
T20	Chella Choi	38-32	70	-2
T20	Yujie Liu (a) *	34-36	70	-2
T20	Jenny Bae	35-35	70	-2
T26	Gemma Dryburgh	34-37	71	-1
T26	Erika Hara	33-38	71	-1
T26	Alexa Pano	37-34	71	-1
T26	Muni He *	35-36	71	-1
T26	Lucy Li	33-38	71	-1
T26	Hye-Jin Choi	34-37	71	-1
T26	Xinen Lin	33-38	71	-1
T26	Cocona Sakurai	35-36	71	-1
T26	Runzhi Pang	33-38	71	-1
T26	Zixuan Wang	39-32	71	-1
T26	Frida Kinhult	36-35	71	-1
T26	Robyn Choi	35-36	71	-1
T26	Jenny Shin	35-36	71	-1
T26	Dewi Weber	36-35	71	-1
T26	Lauren Walsh	36-35	71	-1
T26	Ruixin Liu	34-37	71	-1
T26	Rio Takeda	36-35	71	-1
T43	Chiara Tamburlini	36-36	72	E
T43	Wanyao Lu	35-37	72	E
T43	Laetitia Beck	36-36	72	E
T43	Qianhui Lin	37-35	72	E
T43	Briana Chacon	35-37	72	E
T43	Gina Kim	36-36	72	E
T43	Yana Wilson	36-36	72	E

**ROUND 1 SUMMARY**  
**2026 Blue Bay LPGA**  
**Jian Lake Blue Bay Golf Course**

Thursday, March 5, 2026

Purse: \$2,600,000.00  
Par: 36 36 - 72 Yardage: 6712

POS	NAME	SCORES	TOTAL	TO PAR
T43	Yahui Zhang	35-37	72	E
T43	Minji Kang	37-35	72	E
T43	Paula Reto	36-36	72	E
T53	Peiyun Chien	38-35	73	+1
T53	Perrine Delacour	39-34	73	+1
T53	Jeongeun Lee5	34-39	73	+1
T53	Linnea Strom	35-38	73	+1
T53	Jing Yan	37-36	73	+1
T53	Albane Valenzuela	36-37	73	+1
T53	Melanie Green	40-33	73	+1
T53	Yuri Yoshida	37-36	73	+1
T53	Manon De Roey	37-36	73	+1
T53	Erica Shepherd	36-37	73	+1
T63	Ana Belac	35-39	74	+2
T63	Yuai Ji	36-38	74	+2
T63	Soo Bin Joo	38-36	74	+2
T63	Dongeun Lee	38-36	74	+2
T63	Celine Borge	37-37	74	+2
T63	Shuying Li	37-37	74	+2
T63	Nastasia Nadaud	34-40	74	+2
T63	Xiang Sui	37-37	74	+2
T63	Hinako Shibuno	36-38	74	+2
T63	Camille Boyd	36-38	74	+2
T63	Laney Frye	35-39	74	+2
T63	Leah John	36-38	74	+2
T63	Bailey Tardy	36-38	74	+2
T76	Pajaree Anannarukarn	41-34	75	+3
T76	Kumkang Park	39-36	75	+3
T76	Haeji Kang	36-39	75	+3
T76	Suvichaya Vinijchaitham	36-39	75	+3
T76	Yuka Saso	36-39	75	+3
T76	Anne Chen	38-37	75	+3
T76	Jasmine Suwannapura	37-38	75	+3
T76	Isi Gabsa	36-39	75	+3
T76	Jodi Ewart Shadoff	36-39	75	+3
T76	Mimi Rhodes	37-38	75	+3
T76	Xiaowen Yin	35-40	75	+3
T87	Ssu-Chia Cheng	38-38	76	+4
T87	Hailee Cooper	36-40	76	+4
T87	Yuli Shi	38-38	76	+4
T87	Riley Smyth	38-38	76	+4
T87	Yanhong Pan	35-41	76	+4
T87	Supamas Sangchan	35-41	76	+4
T87	Carolina Melgrati	39-37	76	+4
T94	Yuna Nishimura	38-39	77	+5
T94	Yijia Ren	37-40	77	+5
T94	Arpichaya Yubol	41-36	77	+5
T94	Jingwen Zhang	38-39	77	+5
T98	Saki Baba	40-38	78	+6

**ROUND 1 SUMMARY**  
**2026 Blue Bay LPGA**  
**Jian Lake Blue Bay Golf Course**

Thursday, March 5, 2026

Purse: \$2,600,000.00  
Par: 36 36 - 72 Yardage: 6712

POS	NAME	SCORES	TOTAL	TO PAR
T98	Stephanie Meadow	40-38	78	+6
T98	Benedetta Moresco	40-38	78	+6
T101	Ziyan Meng (a) *	35-44	79	+7
T101	Xinyu Wang (a) *	38-41	79	+7
T103	Polly Mack	43-37	80	+8
T103	Sherman Santiwivatthanaphong	40-40	80	+8
105	Aline Krauter	39-42	81	+9
T106	Moriya Jutanugarn	39-43	82	+10
T106	Yaxuan Huang (a) *	37-45	82	+10
108	Mohan Du	42-44	86	+14

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Youmin Hwang (-6)

AFTER ROUND 1 - TOTAL SCORE: 66

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	3	5	3	4	4	3	4	4	33	4	3	4	4	5	3	2	3	5	33	66

## Mary Liu (-6)

AFTER ROUND 1 - TOTAL SCORE: 66

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	2	3	4	2	4	4	32	4	3	4	4	5	3	3	4	4	34	66

## Weiwei Zhang (-6)

AFTER ROUND 1 - TOTAL SCORE: 66

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	3	4	3	3	3	32	3	4	4	4	5	3	3	3	5	34	66

## Zining An (-5)

AFTER ROUND 1 - TOTAL SCORE: 67

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	5	3	3	4	3	5	3	33	5	3	4	4	3	4	3	3	5	34	67

## Auston Kim (-5)

AFTER ROUND 1 - TOTAL SCORE: 67

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	4	4	3	4	4	4	3	33	3	3	5	4	4	5	2	4	4	34	67

## Mi Hyang Lee (-5)

AFTER ROUND 1 - TOTAL SCORE: 67

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	6	3	3	4	3	4	4	34	5	3	4	4	4	3	3	3	4	33	67

## Aditi Ashok (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	4	3	3	4	4	33	4	3	4	5	4	4	3	4	4	35	68

## Ayaka Furue (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	4	4	3	4	3	33	3	3	4	4	5	4	3	4	5	35	68

## Esther Henseleit (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	6	3	4	4	3	4	3	34	3	4	4	4	4	2	3	5	5	34	68

## Yu Liu (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	6	4	4	4	3	4	3	36	4	3	4	3	5	3	2	3	5	32	68

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Emma McMyler (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	3	5	3	3	3	3	4	4	31	6	2	5	4	4	4	3	4	5	37	68

## Pornanong Phatlum (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	4	2	4	4	3	4	4	32	5	3	4	4	5	3	3	4	5	36	68

## Ruoning Yin (-4)

AFTER ROUND 1 - TOTAL SCORE: 68

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	4	4	4	4	3	4	3	33	4	3	4	4	5	4	3	4	4	35	68

## Carolina Chacarra (-3)

AFTER ROUND 1 - TOTAL SCORE: 69

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	5	5	3	4	4	2	5	4	35	4	3	5	4	4	4	3	3	4	34	69

## Lindy Duncan (-3)

AFTER ROUND 1 - TOTAL SCORE: 69

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	4	3	4	4	3	5	4	34	4	3	4	4	5	3	3	4	5	35	69

## Leona Maguire (-3)

AFTER ROUND 1 - TOTAL SCORE: 69

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	3	5	4	4	4	3	5	3	36	4	3	4	4	4	3	3	4	4	33	69

## Chanettee Wannasaen (-3)

AFTER ROUND 1 - TOTAL SCORE: 69

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	4	4	4	3	3	5	4	36	4	2	4	3	5	4	3	4	4	33	69

## Ying Xu (-3)

AFTER ROUND 1 - TOTAL SCORE: 69

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	4	5	3	2	4	3	34	4	3	4	4	6	3	3	3	5	35	69

## Shiyuan Zhou (-3)

AFTER ROUND 1 - TOTAL SCORE: 69

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	6	4	3	3	3	4	4	35	4	3	4	4	4	4	3	4	4	34	69

## Jenny Bae (-2)

AFTER ROUND 1 - TOTAL SCORE: 70

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	4	3	4	4	35	5	3	4	4	4	3	3	5	4	35	70

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Chella Choi (-2)

AFTER ROUND 1 - TOTAL SCORE: 70

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	3	4	5	3	5	4	38	4	3	4	4	4	3	3	3	4	32	70

## Wei-Ling Hsu (-2)

AFTER ROUND 1 - TOTAL SCORE: 70

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	4	3	4	5	36	4	4	4	4	5	3	3	3	4	34	70

## A Lim Kim (-2)

AFTER ROUND 1 - TOTAL SCORE: 70

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	3	3	5	4	35	5	3	4	4	5	3	3	4	4	35	70

## Yan Liu (-2)

AFTER ROUND 1 - TOTAL SCORE: 70

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	3	5	3	4	4	2	5	4	35	4	3	5	3	5	5	2	4	4	35	70

## Yujie Liu (a) \* (-2)

AFTER ROUND 1 - TOTAL SCORE: 70

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	5	4	3	4	3	4	4	34	4	3	5	4	5	3	3	4	5	36	70

## Hye-Jin Choi (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	5	3	5	4	3	3	4	34	4	3	4	4	5	4	3	5	5	37	71

## Robyn Choi (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	2	5	4	3	4	4	35	4	3	4	4	4	5	3	4	5	36	71

## Gemma Dryburgh (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	3	5	4	4	3	3	4	3	34	5	3	5	4	5	3	3	4	5	37	71

## Erika Hara (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	3	4	3	2	4	3	33	6	3	4	4	4	4	4	5	4	38	71

## Muni He \* (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	2	5	4	3	4	4	35	4	3	4	4	5	4	3	4	5	36	71

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Frida Kinhult (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	4	4	4	4	36	5	3	4	3	5	3	3	4	5	35	71

## Lucy Li (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	5	3	4	3	3	4	4	33	3	3	5	4	5	6	3	4	5	38	71

## Xinen Lin (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	3	3	3	4	5	33	5	4	4	4	5	4	3	4	5	38	71

## Ruixin Liu (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	5	3	3	4	4	4	4	34	5	4	5	4	5	3	2	4	5	37	71

## Runzhi Pang (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	4	3	3	4	3	3	33	4	4	4	4	5	4	3	5	5	38	71

## Alexa Pano (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	5	4	3	3	4	4	37	4	3	3	4	5	3	3	4	5	34	71

## Cocona Sakurai (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	4	4	4	4	4	35	4	3	4	5	4	4	3	4	5	36	71

## Jenny Shin (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	6	3	4	3	3	5	4	35	4	2	5	4	4	3	3	5	6	36	71

## Rio Takeda (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	5	4	4	4	4	4	4	36	4	3	4	4	4	4	3	4	5	35	71

## Lauren Walsh (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	3	5	3	3	5	3	36	4	3	5	4	4	3	3	3	6	35	71

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Zixuan Wang (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	4	5	5	4	4	4	39	5	3	4	3	4	4	2	3	4	32	71

## Dewi Weber (-1)

AFTER ROUND 1 - TOTAL SCORE: 71

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	3	4	4	3	5	3	36	4	3	3	4	4	4	4	4	5	35	71

## Laetitia Beck (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	4	3	5	4	3	4	4	36	5	3	4	4	5	4	3	3	5	36	72

## Briana Chacon (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	3	4	4	4	4	35	5	3	4	4	4	4	4	3	6	37	72

## Minji Kang (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	4	3	5	5	3	6	4	37	4	3	3	4	5	4	3	4	5	35	72

## Gina Kim (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	5	3	4	5	3	5	4	36	4	2	4	5	5	4	4	4	4	36	72

## Qianhui Lin (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	4	5	3	2	5	4	37	4	3	3	5	4	4	3	3	6	35	72

## Wanyao Lu (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	3	3	5	4	35	5	3	4	5	5	4	3	3	5	37	72

## Paula Reto (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	6	2	3	4	3	5	4	36	4	3	5	4	6	3	2	4	5	36	72

## Chiara Tamburlini (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	4	4	4	5	2	4	4	36	4	3	4	4	4	6	3	4	4	36	72

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Yana Wilson (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	5	4	5	3	3	5	4	36	4	3	5	4	5	4	2	3	6	36	72

Yahui Zhang (E)

AFTER ROUND 1 - TOTAL SCORE: 72

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	3	4	4	5	4	4	4	4	35	4	2	5	4	5	4	3	5	5	37	72

Peiyun Chien (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	4	5	4	3	5	4	38	4	3	4	4	5	3	3	4	5	35	73

Manon De Roey (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	6	4	5	4	3	4	4	37	4	3	5	4	4	4	3	4	5	36	73

Perrine Delacour (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	7	3	3	4	3	5	5	39	5	2	3	5	5	3	3	4	4	34	73

Melanie Green (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	8	4	5	4	4	4	2	4	5	40	5	2	4	4	4	4	3	3	4	33	73

Jeongeun Lee5 (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	3	4	3	4	34	5	3	4	4	5	6	3	4	5	39	73

Erica Shepherd (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	3	4	4	3	4	4	36	5	3	4	4	5	4	4	4	4	37	73

Linnea Strom (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	5	3	3	4	3	6	4	35	4	3	4	4	6	5	3	4	5	38	73

Albane Valenzuela (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	6	3	4	4	3	4	4	36	4	3	6	4	5	4	3	4	4	37	73

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Jing Yan (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	4	3	4	3	5	4	37	5	3	4	5	5	4	3	4	3	36	73

Yuri Yoshida (+1)

AFTER ROUND 1 - TOTAL SCORE: 73

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	5	6	3	4	4	3	5	4	37	3	3	4	4	5	6	3	4	4	36	73

Ana Belac (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	5	4	3	5	3	35	4	4	4	4	6	4	3	5	5	39	74

Celine Borge (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	3	5	4	3	4	4	37	4	3	4	5	6	4	3	4	4	37	74

Camille Boyd (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	7	3	4	3	3	5	4	36	4	4	5	4	5	4	3	4	5	38	74

Laney Frye (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	3	4	3	5	4	35	4	3	4	4	4	5	3	5	7	39	74

Yuai Ji (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	3	4	4	5	36	5	3	4	4	5	4	3	6	4	38	74

Leah John (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	4	4	3	4	3	5	4	36	4	4	5	5	5	3	3	5	4	38	74

Soo Bin Joo (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	6	3	5	5	3	4	3	38	4	3	4	4	5	3	3	4	6	36	74

Dongeun Lee (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	3	5	4	4	5	3	38	5	3	5	4	4	3	4	3	5	36	74

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Shuying Li (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	4	3	5	3	6	3	37	4	3	5	4	5	4	2	4	6	37	74

## Nastasia Nadaud (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	2	3	5	3	4	4	34	5	3	4	5	5	4	3	5	6	40	74

## Hinako Shibuno (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	4	4	3	5	5	36	4	3	5	4	5	3	3	4	7	38	74

## Xiang Sui (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	4	4	5	4	3	5	3	37	5	4	4	4	5	4	2	4	5	37	74

## Bailey Tardy (+2)

AFTER ROUND 1 - TOTAL SCORE: 74

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	4	5	4	5	4	3	4	4	36	5	3	4	4	5	3	5	5	4	38	74

## Pajaree Anannarukarn (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	5	5	6	5	41	4	3	4	4	4	4	3	4	4	34	75

## Anne Chen (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	5	3	5	5	38	4	3	5	4	5	4	3	4	5	37	75

## Jodi Ewart Shadoff (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	4	3	4	3	4	4	36	5	4	5	4	5	4	3	4	5	39	75

## Isi Gabsa (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	3	4	3	3	4	5	36	5	4	4	4	5	4	4	4	5	39	75

## Haeji Kang (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	4	4	5	4	3	4	5	36	5	3	5	6	4	5	3	4	4	39	75

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Kumkang Park (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	4	4	4	4	5	4	39	3	2	4	5	5	4	3	5	5	36	75

## Mimi Rhodes (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	5	4	3	5	4	37	4	4	4	6	5	4	3	3	5	38	75

## Yuka Saso (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	5	4	3	4	4	36	5	3	5	5	5	4	3	4	5	39	75

## Jasmine Suwannapura (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	4	4	5	3	4	4	37	3	3	5	4	5	5	4	4	5	38	75

## Suvichaya Vinijchaitham (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	8	2	3	4	3	5	4	36	7	3	4	5	5	4	2	5	4	39	75

## Xiaowen Yin (+3)

AFTER ROUND 1 - TOTAL SCORE: 75

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	3	5	3	4	4	3	5	4	35	5	4	4	4	4	3	3	9	4	40	75

## Ssu-Chia Cheng (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	6	4	5	5	3	4	3	38	4	3	5	5	5	4	3	4	5	38	76

## Hailee Cooper (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	3	5	4	3	4	4	4	4	5	36	4	3	4	7	5	4	3	4	6	40	76

## Carolina Melgrati (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	3	4	6	3	5	4	39	3	4	4	3	5	6	3	4	5	37	76

## Yanhong Pan (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	4	3	5	3	35	5	3	4	4	5	4	4	5	7	41	76

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Supamas Sangchan (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	5	3	4	3	35	6	3	5	4	5	4	3	3	8	41	76

## Yuli Shi (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	4	4	4	3	5	4	38	4	3	5	5	5	4	3	4	5	38	76

## Riley Smyth (+4)

AFTER ROUND 1 - TOTAL SCORE: 76

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	4	3	6	4	3	6	4	38	4	4	6	4	4	4	3	4	5	38	76

## Yuna Nishimura (+5)

AFTER ROUND 1 - TOTAL SCORE: 77

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	6	4	5	4	3	4	4	38	4	3	4	5	5	6	3	4	5	39	77

## Yijia Ren (+5)

AFTER ROUND 1 - TOTAL SCORE: 77

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	3	5	3	4	4	3	4	6	37	4	4	5	5	4	4	4	5	5	40	77

## Arpichaya Yubol (+5)

AFTER ROUND 1 - TOTAL SCORE: 77

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	5	3	5	5	3	4	7	41	4	3	3	4	5	4	4	3	6	36	77

## Jingwen Zhang (+5)

AFTER ROUND 1 - TOTAL SCORE: 77

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	5	4	4	5	4	38	4	3	5	4	6	4	3	4	6	39	77

## Saki Baba (+6)

AFTER ROUND 1 - TOTAL SCORE: 78

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	8	4	4	3	3	4	5	40	4	3	5	4	5	5	3	3	6	38	78

## Stephanie Meadow (+6)

AFTER ROUND 1 - TOTAL SCORE: 78

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	5	6	5	5	4	3	4	4	40	5	3	5	5	4	5	3	4	4	38	78

## Benedetta Moresco (+6)

AFTER ROUND 1 - TOTAL SCORE: 78

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	3	6	5	3	5	4	40	4	3	4	4	5	4	4	5	5	38	78

## SCORECARD SUMMARY - By Leaderboard

## 2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

## Ziyan Meng (a) \* (+7)

AFTER ROUND 1 - TOTAL SCORE: 79

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	5	3	4	3	3	5	4	35	6	3	5	6	5	4	3	7	5	44	79

## Xinyu Wang (a) \* (+7)

AFTER ROUND 1 - TOTAL SCORE: 79

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	3	6	3	3	6	3	5	4	38	6	4	5	4	6	4	3	4	5	41	79

## Polly Mack (+8)

AFTER ROUND 1 - TOTAL SCORE: 80

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	8	4	4	4	4	6	5	43	5	3	5	4	5	4	3	4	4	37	80

## Sherman Santiwivatthanaphong (+8)

AFTER ROUND 1 - TOTAL SCORE: 80

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	5	6	4	5	4	3	4	4	40	5	3	5	4	6	4	3	4	6	40	80

## Aline Krauter (+9)

AFTER ROUND 1 - TOTAL SCORE: 81

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	3	4	5	4	5	4	39	5	3	5	5	7	4	3	4	6	42	81

## Yaxuan Huang (a) \* (+10)

AFTER ROUND 1 - TOTAL SCORE: 82

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	5	2	3	6	3	5	4	37	5	3	4	4	9	4	3	6	7	45	82

## Moriya Jutanugarn (+10)

AFTER ROUND 1 - TOTAL SCORE: 82

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	5	4	6	3	5	4	3	5	4	39	4	5	4	5	5	7	4	4	5	43	82

## Mohan Du (+14)

AFTER ROUND 1 - TOTAL SCORE: 86

HOLE:	1	2	3	4	5	6	7	8	9	OUT	10	11	12	13	14	15	16	17	18	IN	TOTAL
PAR:	4	4	5	3	4	4	3	5	4	36	4	3	4	4	5	4	3	4	5	36	72
RD 1 (JBB)	4	4	7	3	5	6	3	6	4	42	5	4	6	4	7	4	3	4	7	44	86

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Mary Liu (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	13 / 14 (0.929)	13 / 18 (0.722)	0 / 0 (0.000)	(249.0)	25	21 / 1.62	0	66	-6

Weiwei Zhang (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	9 / 18 (0.500)	0 / 0 (0.000)	(274.5)	22	14 / 1.56	0	66	-6

Youmin Hwang (-6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	13 / 18 (0.722)	0 / 0 (0.000)	(250.0)	25	21 / 1.62	0	66	-6

Mi Hyang Lee (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	5 / 14 (0.357)	11 / 18 (0.611)	0 / 1 (0.000)	(242.5)	25	17 / 1.55	0	67	-5

Zining An (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(262.5)	28	23 / 1.64	0	67	-5

Auston Kim (-5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	16 / 18 (0.889)	0 / 0 (0.000)	(301.0)	30	26 / 1.63	2	67	-5

Aditi Ashok (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	68	-4

Esther Henseleit (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(266.5)	28	21 / 1.62	0	68	-4

Yu Liu (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	14 / 18 (0.778)	0 / 0 (0.000)	(285.0)	29	25 / 1.79	1	68	-4

Ruoning Yin (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	13 / 14 (0.929)	13 / 18 (0.722)	0 / 1 (0.000)	(273.0)	28	22 / 1.69	0	68	-4

Pornanong Phatlum (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	12 / 18 (0.667)	0 / 0 (0.000)	(252.0)	26	19 / 1.58	0	68	-4

Emma McMyler (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	13 / 18 (0.722)	0 / 0 (0.000)	(276.5)	25	19 / 1.46	0	68	-4

Ayaka Furue (-4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	13 / 18 (0.722)	1 / 1 (1.000)	(265.0)	27	22 / 1.69	0	68	-4

Shiyuan Zhou (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	69	-3

Carolina Chacarra (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	11 / 18 (0.611)	0 / 0 (0.000)	(255.0)	26	17 / 1.55	0	69	-3

Ying Xu (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	7 / 18 (0.389)	0 / 0 (0.000)	(250.0)	22	9 / 1.29	0	69	-3

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Leona Maguire (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 1 (0.000)	(254.5)	26	18 / 1.64	1	69	-3

Lindy Duncan (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(260.5)	28	23 / 1.77	0	69	-3

Chanettee Wannasaen (-3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	14 / 14 (1.000)	11 / 18 (0.611)	0 / 1 (0.000)	(292.5)	26	18 / 1.64	1	69	-3

Wei-Ling Hsu (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(277.0)	28	21 / 1.75	1	70	-2

A Lim Kim (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	15 / 18 (0.833)	0 / 0 (0.000)	(267.5)	31	27 / 1.80	0	70	-2

Yan Liu (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(278.5)	26	17 / 1.70	2	70	-2

Chella Choi (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(275.5)	27	18 / 1.64	0	70	-2

Yujie Liu (a) \* (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	70	-2

Jenny Bae (-2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	10 / 18 (0.556)	0 / 0 (0.000)	(272.5)	28	18 / 1.80	0	70	-2

Gemma Dryburgh (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(253.0)	27	17 / 1.70	0	71	-1

Erika Hara (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1

Alexa Pano (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	14 / 18 (0.778)	0 / 0 (0.000)	(275.0)	31	24 / 1.71	1	71	-1

Muni He \* (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(285.0)	30	24 / 2.00	0	71	-1

Lucy Li (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1

Hye-Jin Choi (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	14 / 18 (0.778)	0 / 0 (0.000)	(267.0)	32	26 / 1.86	0	71	-1

Xinen Lin (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Cocona Sakurai (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	10 / 18 (0.556)	0 / 0 (0.000)	(247.5)	26	18 / 1.80	0	71	-1

Runzhi Pang (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	71	-1

Zixuan Wang (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	14 / 18 (0.778)	0 / 0 (0.000)	(250.5)	30	25 / 1.79	3	71	-1

Frida Kinhult (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(260.0)	27	18 / 1.80	1	71	-1

Robyn Choi (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	15 / 18 (0.833)	0 / 0 (0.000)	(250.0)	33	30 / 2.00	2	71	-1

Jenny Shin (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	9 / 18 (0.500)	1 / 2 (0.500)	(240.0)	26	14 / 1.56	0	71	-1

Dewi Weber (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	15 / 18 (0.833)	0 / 0 (0.000)	(280.0)	33	30 / 2.00	2	71	-1

Lauren Walsh (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	11 / 18 (0.611)	0 / 0 (0.000)	(250.0)	26	18 / 1.64	0	71	-1

Ruixin Liu (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	6 / 14 (0.429)	12 / 18 (0.667)	0 / 0 (0.000)	(290.0)	27	20 / 1.67	1	71	-1

Rio Takeda (-1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	7 / 18 (0.389)	0 / 0 (0.000)	(284.0)	27	12 / 1.71	0	71	-1

Chiara Tamburlini (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 1 (0.000)	(279.0)	27	14 / 1.56	0	72	E

Wanyao Lu (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	72	E

Laetitia Beck (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	11 / 18 (0.611)	0 / 0 (0.000)	(270.0)	29	20 / 1.82	0	72	E

Qianhui Lin (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	13 / 18 (0.722)	0 / 1 (0.000)	(285.0)	31	23 / 1.77	1	72	E

Briana Chacon (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 1 (0.000)	(277.5)	26	11 / 1.57	0	72	E

Gina Kim (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	9 / 18 (0.500)	1 / 2 (0.500)	(272.0)	27	15 / 1.67	0	72	E

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Yana Wilson (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	7 / 18 (0.389)	0 / 1 (0.000)	(280.0)	25	13 / 1.86	1	72	E

Yahui Zhang (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(242.5)	30	22 / 1.83	2	72	E

Minji Kang (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(267.5)	28	18 / 1.80	0	72	E

Paula Reto (E)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	11 / 18 (0.611)	1 / 1 (1.000)	(239.5)	27	20 / 1.82	1	72	E

Peiyun Chien (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1

Perrine Delacour (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	73	+1

Jeongeun Lee5 (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(267.5)	28	17 / 1.89	1	73	+1

Linnea Strom (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	0 / 0 (0.000)	(245.0)	29	18 / 1.80	0	73	+1

Jing Yan (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	6 / 14 (0.429)	10 / 18 (0.556)	0 / 0 (0.000)	(270.0)	29	17 / 1.70	0	73	+1

Albane Valenzuela (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 0 (0.000)	(276.0)	27	14 / 1.75	1	73	+1

Melanie Green (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	14 / 18 (0.778)	1 / 1 (1.000)	(246.0)	31	24 / 1.71	3	73	+1

Yuri Yoshida (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	8 / 18 (0.444)	0 / 1 (0.000)	(225.5)	25	14 / 1.75	0	73	+1

Manon De Roey (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	10 / 18 (0.556)	0 / 0 (0.000)	(271.0)	30	18 / 1.80	0	73	+1

Erica Shepherd (+1)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	12 / 18 (0.667)	1 / 1 (1.000)	(265.0)	29	23 / 1.92	1	73	+1

Ana Belac (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2

Yuai Ji (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Soo Bin Joo (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(271.5)	32	23 / 1.92	2	74	+2

Dongeon Lee (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	12 / 18 (0.667)	0 / 0 (0.000)	(252.5)	32	23 / 1.92	2	74	+2

Celine Borge (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(260.5)	31	21 / 1.91	1	74	+2

Shuying Li (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2

Nastasia Nadaud (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	12 / 14 (0.857)	11 / 18 (0.611)	0 / 0 (0.000)	(275.0)	31	20 / 1.82	1	74	+2

Xiang Sui (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	74	+2

Hinako Shibuno (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	9 / 18 (0.500)	0 / 0 (0.000)	(271.5)	29	17 / 1.89	1	74	+2

Camille Boyd (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	13 / 18 (0.722)	0 / 1 (0.000)	(235.0)	30	24 / 1.85	0	74	+2

Laney Frye (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	13 / 18 (0.722)	0 / 0 (0.000)	(280.0)	32	25 / 1.92	1	74	+2

Leah John (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	13 / 18 (0.722)	1 / 2 (0.500)	(278.0)	33	26 / 2.00	4	74	+2

Bailey Tardy (+2)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(267.5)	29	18 / 1.64	0	74	+2

Pajaree Anannarukarn (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	75	+3

Kumkang Park (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	75	+3

Haeji Kang (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	8 / 18 (0.444)	0 / 0 (0.000)	(242.0)	26	12 / 1.50	0	75	+3

Suvichaya Vinijchaitham (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	5 / 14 (0.357)	12 / 18 (0.667)	0 / 3 (0.000)	(274.0)	29	19 / 1.58	0	75	+3

Yuka Saso (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	8 / 18 (0.444)	0 / 0 (0.000)	(252.0)	30	17 / 2.13	1	75	+3

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Anne Chen (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	7 / 18 (0.389)	2 / 2 (1.000)	(294.5)	27	15 / 2.14	1	75	+3

Jasmine Suwannapura (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	9 / 18 (0.500)	0 / 0 (0.000)	(275.0)	31	18 / 2.00	1	75	+3

Isi Gabsa (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	11 / 18 (0.611)	1 / 1 (1.000)	(300.0)	32	23 / 2.09	3	75	+3

Jodi Ewart Shadoff (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	12 / 18 (0.667)	0 / 0 (0.000)	(262.5)	32	24 / 2.00	2	75	+3

Mimi Rhodes (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	14 / 18 (0.778)	0 / 1 (0.000)	(260.0)	34	27 / 1.93	0	75	+3

Xiaowen Yin (+3)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	6 / 14 (0.429)	10 / 18 (0.556)	0 / 0 (0.000)	(265.0)	26	17 / 1.70	0	75	+3

Ssu-Chia Cheng (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	76	+4

Hailee Cooper (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	10 / 18 (0.556)	1 / 1 (1.000)	(255.0)	30	18 / 1.80	1	76	+4

Yuli Shi (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	76	+4

Riley Smyth (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	4 / 14 (0.286)	8 / 18 (0.444)	1 / 1 (1.000)	(297.5)	27	14 / 1.75	0	76	+4

Yanhong Pan (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	76	+4

Supamas Sangchan (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	76	+4

Carolina Melgrati (+4)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	12 / 18 (0.667)	1 / 1 (1.000)	(239.0)	31	22 / 1.83	0	76	+4

Yuna Nishimura (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	13 / 14 (0.929)	7 / 18 (0.389)	0 / 1 (0.000)	(255.0)	29	13 / 1.86	0	77	+5

Yijia Ren (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	9 / 18 (0.500)	0 / 0 (0.000)	(265.0)	30	16 / 1.78	1	77	+5

Arpichaya Yubol (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	9 / 18 (0.500)	0 / 2 (0.000)	(237.5)	30	16 / 1.78	1	77	+5

PLAYER HOLE STATISTICS - By Leaderboard

2026 Blue Bay LPGA

Jian Lake Blue Bay Golf Course

Thursday, March 5, 2026

Purse: \$2,600,000.00

Par: 36 36 - 72 Yardage: 6712

Jingwen Zhang (+5)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	9 / 14 (0.643)	9 / 18 (0.500)	0 / 0 (0.000)	(260.0)	32	19 / 2.11	1	77	+5

Saki Baba (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	78	+6

Stephanie Meadow (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	11 / 14 (0.786)	7 / 18 (0.389)	1 / 1 (1.000)	(223.0)	30	12 / 1.71	2	78	+6

Benedetta Moresco (+6)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	10 / 14 (0.714)	10 / 18 (0.556)	0 / 0 (0.000)	(262.0)	33	20 / 2.00	1	78	+6

Ziyang Meng (a) \* (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	79	+7

Xinyu Wang (a) \* (+7)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	6 / 14 (0.429)	10 / 18 (0.556)	0 / 1 (0.000)	(242.5)	31	20 / 2.00	2	79	+7

Polly Mack (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	8 / 14 (0.571)	11 / 18 (0.611)	0 / 0 (0.000)	(274.5)	34	23 / 2.09	2	80	+8

Sherman Santiwattthanaphong (+8)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 1 (0.000)	(277.5)	32	13 / 1.86	0	80	+8

Aline Krauter (+9)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	81	+9

Moriya Jutanugarn (+10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	7 / 14 (0.500)	7 / 18 (0.389)	0 / 1 (0.000)	(252.0)	31	15 / 2.14	1	82	+10

Yaxuan Huang (a) \* (+10)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	0 / 14 (0.000)	0 / 18 (0.000)	0 / 0 (0.000)	(0.0)	0	0 / 0	0	82	+10

Mohan Du (+14)

RND	CRS	FAIRWAYS	GREENS	SAND SAVES	DRIVING AVG.	PUTTS	GIR PUTTS	3-PUTTS	SCORE	TO PAR
1	JBB	5 / 14 (0.357)	5 / 18 (0.278)	0 / 1 (0.000)	(247.0)	32	10 / 2.00	1	86	+14

# 2026 Blue Bay LPGA

## Round 1 Hole Summary

Thursday, March 5, 2026  
Jian Lake Blue Bay Golf Course

Purse: \$2,600,000.00  
Par: 36 36 - 72 Yardage: 6712

Hole	Par	Rnd 1	Tm Total	Rank	Rank	-2	-1	0	+1	+2	Other
1	4	4.102	4.102	6	<b>RND 1:</b> 6 <b>Total:</b>	0	15	70	22	0	1
2	4	3.963	3.963	13	<b>RND 1:</b> 13 <b>Total:</b>	0	22	68	18	0	0
3	5	5.102	5.102	6	<b>RND 1:</b> 6 <b>Total:</b>	0	20	66	16	3	3
4	3	3.278	3.278	3	<b>RND 1:</b> 3 <b>Total:</b>	0	8	64	34	2	0
5	4	4.093	4.093	9	<b>RND 1:</b> 9 <b>Total:</b>	0	24	52	30	2	0
6	4	4.009	4.009	12	<b>RND 1:</b> 12 <b>Total:</b>	0	23	65	16	4	0
7	3	3.102	3.102	6	<b>RND 1:</b> 6 <b>Total:</b>	0	8	82	17	1	0
8	5	4.481	4.481	18	<b>RND 1:</b> 18 <b>Total:</b>	4	55	42	7	0	0
9	4	3.963	3.963	13	<b>RND 1:</b> 13 <b>Total:</b>	0	22	71	13	1	1
Out	36	36.093	36.093		<b>RND 1:</b> <b>Total:</b>	4	197	580	173	13	5
10	4	4.361	4.361	1	<b>RND 1:</b> 1 <b>Total:</b>	0	9	58	35	5	1
11	3	3.120	3.120	5	<b>RND 1:</b> 5 <b>Total:</b>	0	8	80	19	1	0
12	4	4.333	4.333	2	<b>RND 1:</b> 2 <b>Total:</b>	0	6	63	36	3	0
13	4	4.213	4.213	4	<b>RND 1:</b> 4 <b>Total:</b>	0	6	78	20	3	1
14	5	4.843	4.843	17	<b>RND 1:</b> 17 <b>Total:</b>	1	31	65	8	2	1
15	4	3.935	3.935	15	<b>RND 1:</b> 15 <b>Total:</b>	1	29	62	9	6	1
16	3	3.037	3.037	11	<b>RND 1:</b> 11 <b>Total:</b>	0	11	83	13	1	0
17	4	4.065	4.065	10	<b>RND 1:</b> 10 <b>Total:</b>	0	22	65	17	2	2
18	5	4.926	4.926	16	<b>RND 1:</b> 16 <b>Total:</b>	1	33	54	14	5	1
In	36	36.833	36.833		<b>RND 1:</b> <b>Total:</b>	3	155	608	171	28	7
TOTAL	72	72.926	72.926		<b>RND 1:</b> <b>Total:</b>	7	352	1188	344	41	12